F1EA$L5 (9:30~9:40)

&S Y 22 == Y a |s= Y i

1 |/895(1) 200M| 41 (m 200M| 81 |AFEAR/EYH 200/
2 |/ REFIL 100M| 42 |F4—< vk 100M| 82 |BhA-HELVL 100/
3 |zIPPO 500 43 |m 100/ 83 |/hxktzvbk 100/
4 (A2 TS5—tvh(4E) 200M( 44 [BOH 100M|| 84 | AT YTrA—(1) 1,000/
5 |55 (KEFXRES) 200/ 45 |E—iL¥avF vk 30M| 85 |F& 1,000
6 |WMEREE 1,000 46 |RIZAE (2 )L13—) 200 86 (T ¥V 1,000
7 |$BRavo 1,500M( 47 (80FLNF (108 —F) 560M| 87 |KFEtvhk 700
8 |AmETL—t 1,500/ 48 |=EXE 100M| 88 |/NR#Etvk 300M
9 |Etaro 1,000/ 49 |#E-Mtyh 100M| 89 |m 300M
10 [R/—F—L(1) 100M|f 50 |F+vhk 100A| 90 |/IMgAtwb 200M
11 |3—ke—*—Hh— 200A( 51 |94 RF—(rg&EL7ELR)|  1,100A| 91 |ToA & 300M
12 |&tvb 300M| 52 [VARF—(RTAFR—2R) 300M| 92 |EF3vIIFvE—E— 1,000
13 |LEDR—2T L S5T4 300M| 53 |FYR—2—(E>Y) 200M( 93 |FREME 1,000
14 |EREE 400M|| 54 |RtHHR—2—(TIIL—) 200M( 94 |EEN|4& 7,000M
15 |7394°(2) 300M| 55 Y HR—2—(T)L—) 200/ 95 |AAILE—H— 2,000
16 |7394°(3) 400M| 56 [B#&/\UF SHAX(1) 500M| 96 |ftFAa—k 6,800
17 |F4RX=—1kX )Ltk 600M| 57 |B#8/\UK SHAX(2) 500/ 97 |&KIBFZIZBRITAL 8,700M
18 |Z5Y-1\vd vk 3,000A( 58 [~JLAYE 3,100M| 98 [;ZHIMRIEE 3,000
19 |/RREAIL 1,000M| 59 |68~ 300M| 99 |{FBRik 2,000
20 (A Ltk (1) 500M| 60 [£—%— 350M| 100 |#FYt=t=HT b 3,000
21 (AFILEvk(2) 1,000M| 61 (¥4 vk 300M|[ 101 |Fv>THF7— 100M
22 [aykrITSovk 800M| 62 |RhAZR 100A| 102 |Fz—>v—(1) 1,000
23 (I RAF Lt yh 200M| 63 [HASLUX 300M || 103 |54 %E M4 1,000
24 (EFE 500 64 |#E 1,000M|| 104 |20t 42T H A NFS—+ | 14,000
25 |EEMmE 500M( 65 |&5& 2,000M|[ 105 |5 (1) 4,500
26 |MESZ+T4v25—R(1) 200 66 |CD(% F3&#1) 100M|( 106 |EERkAY¥1 5 (1) 2,900
27 |MEEZ+T4v225—2R(2) 200 67 |CD(% #3&42) 100M|( 107 |%E 7] 1,000
28 |MER+Tv2 27 —R(3) 200 68 |CD(% F3&#i3) 100M|| 108 |DVD 10M
29 [FILILSH—I—hk 50M| 69 |CD(% 3 3£4t4) 100M(| 109 |95V (1) 2,500
30 [Twsi— 100A| 70 |HhAS 3,000 110 [#9% (1) 6,200M
31 |Loohz7 100 71 |REREaEt 700/ 111 |#9%(2) 100
32 |N\UREFIL 50| 72 |Y—a2P == 2,000 112 [#9F vk (2) 500M
33 |24 Ltk (3) 100M|[ 73 |DVD(B'z) 200M( 113 |#9% vk (3) 400M
34 [T a— 3000M| 74 |[3—RLRA2/9MRS0/8—|  2,000M(| 114 |$9%F45 —X (K) 1,000
35 |TIL—LALa—4F— 5,000[| 75 |5 R v— 500 115 |42%! /RETLE 4,000
36 |USVIRKR—IL 200H( 76 |BIE/NYE 100M| 116 |37 KRETLE 3,000
37 |&IEUIF 500Af 77 [/ R 2,000A| 117 [50%! HRTLE 28,800
38 |F L% 100M|f 78 |FLARF— 323 1,000M( 118 |32& K/ETFLE (1) 3,000
39 (m 500M( 79 (H#5Dh vk 100A| 119 |22& HZTLE (1) 1,000
40 [/ 100M|| 80 |EAMYRRE Y 100 | 120 | 228! HETLE (2) 1,000
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2@ A L5 (10:20~10:30)

&S Y 22 == Y a |s= Y i
121 1394 (4) 200/ 161 |3 100M|| 201 |ZEDH Uk 100/
122 |CAA(RA) 1,500 162 |58 300A( 202 |ETHHAS 4,500
123|CD 200M( 163 |E—/LPavF bk 30M(| 203 | B TR AFEHOD/NKRF 100/
124 |/3%'(5) 300 (| 164 [8OMLNF (108> —F) 560M|| 204 | ¥ AT YT v A—(2) 1,000/
125 [B&zt vk 3,000/ 165 |FAFI62EHFETF—H 70M| 205 [FEESF 1,000
126 |IR—4J LDVDTL—¥— 1,500 (| 166 | Z<Ha 100M|[ 206 |3DSLL A&{& 1,500
127 | S et ZBBUR 3y 500 167 |/ S—F 14—t vk 100M|| 207 |{AE 5 1,000
128 | 43854 Lo D4—L 2tk 500M || 168 | KL 100M|| 208 |DVDFL 1 ¥ — 500
129 [FSA /38—t yk 100M| 169 |a—t—hvyTEvk 100M| 209 |24 )LtV (7) 300
130 [ty (1) 200A( 170 [& K 1,100A| 210 | #A )L 100/
131 [/Xv%(6) 100M|| 171 |BA#R 2,400 211 |#t 500
132 [R/—K—L(2) 200M( 172 [BEA=Ltvh 400M| 212 [R—T 2,000M
133 [ty (2) 300M|[ 178 [E ALYk 600M|| 213 | MM+ E 1,000
134 [J3524vk 1,500/ 174 |2 T Y9I R (R—T2) 400M(| 214 |27 —REAHE (AH ) 1,000
135 |CD.~DVD (K[F4RF1) 100A|| 175 | 7Y —HR—4— =22 700 215 | M FLL Vv 3,000
136 |CD./DVD (K[Fi#F2) 100M| 176 |#HBEEF (FELH) 700M| 216 |BMRAR—T (KThFER) 500/
137 |CD (EXILE1) 100[(| 177 |1 AR LEER YN (TOT) 400M( 217 [E—%— 1,000
138 [CD (EXILE2) 100M|( 178 |EF7 22T 5—& vk 300M|[ 218 (Y f=fcHT—T L 1,000
139 (Zf=D i 1,500 179 (&8 500 219 |HrUf=t=H A RV 900
140 (54 )Ltvh(4) 300 180 |&5E 1,500 220 | /M A A4 2,000
141 |27 )Ltvhk(5) 500/ 181 |#5:E 800M( 221 [T L2557 vk 1,500
142 |3 JLwk 1,500M|| 182 |&5E 500M| 222 |Fx—2Y—(2) 500/
143 [/ oL vk 500 183 (&5 500M| 223 |Fz—>Y—(3) 1,000
144 (220 3,000M( 184 |#5& 600 || 224 |#586 (2) 6,300
145 |54 )Ltvk(6) 100M|[ 185 |CD(R 3K/ 5 F 4 100M(| 225 |FvIL R (1) 7,200M
146 |E5 100/ 186 |CD(Ivory I /4 F3£4t) 100M|[ 226 |5 (3) 5,600
147 (I 200 (| 187 |CD(elfin/4 F3E#i) 100/ 227 |EA4L 100
148 |8 200 (| 188 [DVD(& I+# L C(RB$)/ZARD) 100 | 228 |41+ 100/
149 |/395°(7) 50/ 189 |y A KT L—H— 100/ 229 |89tz vk(4) 500M
150 |[CDSSh+t 300M( 190 [DVDFL A — 500M|| 230 |#95FE vk (5) 200M
151 [/ (8) 100H| 191 |74 (10) 100M | 231 | 895ty (6) 200/
152|734 (9) 100/ 192 |3 =<y H—T %% 100/ 232 |89 Vb (7) 200/
153 [E{TE8R 100M[[ 193 |73 4 (11) 3,000/ 233 | =t DLV 1,000
154 (I 100M|( 194 |7 A>T SR 100M(| 234 |$9%(3) 1,000
155 | M 100M|[ 195 |BEEt 200M| 235 [22%! /&ETLE(3) 3,300M
156 | M 100F|| 196 |4&RY FREEH 200M| 236 [22%! HETLE (4) 10,0004
157 (I 100/ 197 | 7 ¥ —bFM vk 300 237 |[40%! BETLE 6,300
158 | M 100M|( 198 |[EM vk 200M| 238 [32&! /@ TLE(2) 5,000
159 (I 500A( 199 |5 Xtk 200M|| 239 |32%! HHETLE (3) 2,000
160 |/ N2 &AL 100/ 200 |E 55 200M
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F3IEMAFLS (11:10~11:20)

&S Y 22 == Y a |s= Y i
241 [TORIVNAS 3,000/ 281 |#EEHLD 100M| 321 |F % 1,000
242 |RT—> I —H% b 800 || 282 |/\w%' (17) 100M|| 322 |Dv AT YPv28—(3) 1,000
243 |EI&E 1,000M| 283 | FRL12EHEENFL—+ 90M|[ 823 | XK 1,500
244 | BV RA—/N\UA—HER A 300M(| 284 | EH0EHEETFEL—F 90M| 324 |E&# (1) 300M
245 | FEE-RUtyk 300/ 285 |E—/L¥avF vk 30M| 325 | & (2) 500/
246 |FoRLF—=axaLv>ar|  3,000M| 286 |k M 100M|[ 326 | £ (3) 300M
247 | hy 7 2@+ vk 200/ (| 287 | K& 5 tvh 100M| 327 | H 700M
248 [£M3R (KRFAY) 300 288 | KL 100M|[ 328 | E77 (4) 500M
249 ||Etvk 400M|[ 289 [TL RLvk 300M|| 329 |.£89% 400M
250 (UR#hFE 600A( 290 |7V E—RT4¥a7 400M(| 330 [RTL—t vk 500M
251 |14 (12) 200/ 291 [#t T #i 400M| 331 [KIE % 600
252 (/w4 (13) 300M|( 292 [t T 2 400M|[ 332 |77 E—45— 1,500
253 (Bt 300/ 298 |[REVA+—<— 200M( 333 |T LT/ oEYE 1,500
254 |24 )Lty (8) 500/ 294 [7oE—x HoT Z4Ea7 () 700M|( 334 |—#REE 2,000
255 (/AR 2wk 300 295 |7oE—2 HLU T4¥aT7(2) 700 335 |2—FL RiZRRHE 1,500
256 (24 LUk 800M|[ 296 | AT A 8RR/t~ 500 336 |A—T 1A vt 1,000
257 |24 )Ltk (9) 300 297 B 1R EEERS 500[( 337 |F¥)—47—X 3,000
258 [/SRAA )L 600 || 298 |z 1,000 | 338 |fTYf-f-AEEE 500
259 |24 )Ltwk(10) 200 299 |75 R 2,000/ | 339 [;ZFHIMRIEE 6,000M
260 |# T IILTTA RV Uk 400M| 300 (¥EFtvh 2,500M| 340 [R—Y4s—Z (8) 500
261 |91V —8/ Sk 700M( 301 | 1,000A( 341 |V I77— 500/
262 | R7—8U\wk 800M|[ 302 |B=REET 1,500M (| 342 | v o R7r—45— 200M
263 [£35Y vtk 4,000M || 303 |BEsst 700F( 343 Y =T=A#EF 100M
264 | KT -y—H—tvbk 500M( 304 |FEE 1,000M|| 344 |~y oL R (2) 9,000
265 |La—F 1,000M( 305 |{AE &t 1,000M( 345 |1 4,200
266 |/\v7% (14) 100M| 306 |R—42T JLFEHF— 3> 5,000/ 346 | BBV (2) 700/
267 |74 (15) 100/ 307 |~ —X 500 | 347 |ANARRIT 12,000
268|734 (16) 100/ 308 |¥ 5 hv T 100M|( 348 | 895z Vb (8) 200M
269 |[1R4/\v5 (1) 100M|[ 309 | ¥AT75 (¥ — 2,000M|| 349 [#95 vk (9) 200/
270 |74/ (2) 100A( 310 |TF L2557 1,000M|[ 350 |S>T a5 v Tk 3,200M
271 |17 A/ (3) 100M(| 311 |BEIRS (/83— 1,000M|| 351 |7L3t=% 100/
272 [KDTF 50M| 312 |24 L 50M|[ 352 | #9577 —R (/) 1,000
273 |M 100/ 313 [T v 50M|[ 353 |$9% (4) 500M
274 | 500M( 314 [T+ 50| 354 |32 KB TLE (4) 2,000
275 |88 200M( 315 |y —TF 7 3,000M|[ 355 |32&! K BTLE (5) 1,700
276 |24 Ly (11) 500/ 316 | AtV 200 356 [32E! KB TLE (6) 4,600
277 |IRRAT Yk 100M| 317 |Mtvk 200M|| 357 |19%! H&ETLE (1) 2,000
278 |24 100/ 318 | B2 tvk 200 358 [32E! KB TLE () 5,000
279 |24 LYk (12) 100A| 319 | Mtk 200M|| 359 |19%! HHETLE (2) 2,000
280 | £ 300/ 320 |TLT7H5T Vb 300/
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AlEERl 70® maTLE 70,000F

B |JIIFEET AN 200,000




